
Distance: 50 miles from 
Japan.

Cargo: 2 tonnes of cameras.

Distance: 80 miles from 
Grimsby docks.

Cargo: 2500kg of fresh fish.

Group the freight 
cards which have the 

same tonne-miles.

weight of freight (tonnes) × distance transported (miles)
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Measuring freightThe greenest route

The transport of freight is 

measured in tonne-miles

1000kg = 1 tonne

Design another card for each freight group.

Make the distance and the weight different from the other cards in the group.

How are distance and weight related?

Distance: 10 miles from 
Immingham Port in Yorkshire.

Cargo: 5 tonnes of cuddly toys.

Distance: 100 miles between 
factory and port.

Cargo: 2000kg of toys.


